Модуль 2.       Практическая часть №5.
 1.   Преобразовать выражение:
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2. Найти значение выражения:
1)  sin 2400           2)  cos(-2100)        3)  tg 3000     4)  sin 3300  

5) ctg(-2250)         6) sin 3150            7)  sin 
[image: image28.wmf]3

4

p

       8) cos  
[image: image29.wmf]6

7

p

  

3.  Упростить:

1) 
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4. Доказать: 
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5. Решить задачу:
1) Доказать, что если А, В, С – углы треугольника, то 
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2) Доказать, что если  α + β + γ = 1800, то
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Домашняя   работа:
1. Упростить:
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2. Доказать:
1) 
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